ELCLE 2260 HOMEWORK #9 probs 1 and 2 solution U
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After being closed for a long time, the switch opens at 7 = 0.

The above circuit is an analog "one-shot" circuit that, once charged, produces a short,
rounded current-pulse resembling the current that flows in a synapse of a neuron.
The circuit is critically damped.

a) Find the value of R that makes the circuit critically-damped.

b) Using the R value from (a), find a numerical expression for the inductor current,
i(t), for t > 0.



$oln: a) After =0, +the switch ls open, and
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with resistance R+Rg.
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+t+ce, C=open, L=wire, switeh open

Sinee +there Ls ne pwr scurde,
Ay = (E»m) =0 A
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